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HAT -1I/PART -1

R [T ged % v @7 % g gad

I [AEE 9 REnereE/ CHILD DEVELOPMENT AND PEDAGOGY

T fweq g -

1.

2.

T qoE ANE dean ¢, A I
(1) YgagET® & e QUG S
(2) Wﬁw‘aﬁ

(3) e @Yy 4 geEr T

(4) T fofr 9 gern S

Fe-He § e TA FRr §

(1) BFT & ST JaM & &l

(2) B H TEEE ST aEEte ad

L

(3) BE @ R & IEEY 39 H

(4) ITUF Gl
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Directions : Answer the following questions

by selecting the most appropriate oplion :

1. A child learns more if he 1s

2.

ey

2

(3)

(4)

taught through textbook

taught through computer

taught through lecture method

taught through activity method

The teacher in the classroom makes

effort

(1) To provide experiences to
students

(2) To provide supportive learning
environment

(3) To provide opportunity to reflect

@

All of the above



3. faen & & ygw Sgw ¥

(1) asl 3 A & F9 g a9
AR feRE

(2 Twal & = 3 g ohen $ faw
FIT FE

(3) T W AW ]| g IR Fow
FETT

(4) RF @1 S A9 9 AEHE Hea
B B BT

4. FFI9 SEE AN AgAY 9 @ §

(1) w ay & g °
2 =X ad & g |
(3) & af &l g |
@ [ af F oang |

5. 6-1199 g o1 & oE & SEIEA &
(1) HH-H& | TodiEed arda<er @

(2) dEw ¥ W@ENdar &

(3) Tpar omeiRd, oo frarwe s
&

(4) IR g4t

s
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(4)

4, Most children

3. There are two main objectives of

education

(1) To instill subject knowledge in
the children and to cause mental

development of the children

(2) To provide subject knowledge and

prepare for examination

(3) To provide subject knowledge and

help in memorization

(4) To provide subject knowledge and

develop vocational skill

learn their native

language

(1) at the age of one year
(2) at the age of four years
(3) at the age of six years

(4) at the age of two years

5. Children of 6-11 years age group need
(1) Democratic environment in the
classroom
(2) Autonomy in learning

(3) Activity based interactive

learning

(4) All of the above



6. TH oo 9 F WERH H &
(1) 6 W & g |
(2) 12 A& &I g A
(3) 18 e & aMg
(4) 24 A& H g H

7. 9 @AY yER § ded €

(1) e & e &}

(2) TAFT &M, [ g, N YO,

fopar X e R W

(3) farer aru FRiEm, FERE uages

aenfa fRrerer arn

(4) IR | 9§ Big T8l

8. 6-11 @ oTg & & Fwhl i fafameany

e €

(1) 9 @i Td aied eIftrTeRdl

B &

2) s 3 e e o FeX e 2

(3) T, RreE ¥ T W B E

(4) 9% dEw § 5 T e §
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(5)

6. A child shows jealousy at the age of
(i) 6 months
(2) 12 months
(3) 18 months

(4) 24 months

7. Students learn in variety of ways
(1) From the lecture of the teacher

(2) Through experiment, discussion,
asking questions, doing activities

and through reflection

(3) Teacher directed and controlled
textbook based teaching

(4) None of the above

8. Children of 6-11 years age group have

following characteristics

(1) Children are natural and active

learners
(2) Depend on teachers for learning

(3) Children receive knowledge from

teachers

(4) Children are not interested in

learning

P.T.O.
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9. oW gE B AR H BE-G1 FU T 9. Which statement about a creative
TET e 7 child is not true ?
(b gomeii s femyg e 2 (1) A creative child is curious
(2) goHLie g wredr T2 g § (2) A creative  child is  not
adventurous

(3) gomslia arae afedh dar &
, (3) A creative child is extrovert
(4) G ST HewERel aar ©

(4) A creative child is ambitious

10. TEH S # i ad ® 10. New knowledge is acquired through
(1) 3 AR & g6 (1) transmission of knowledge
(2) TH P 3 (2) memorization
(3) a9 & SEIREE: ] ?\-{;ﬁ ® BN (3) experience and searching new
meanings
(4) SWE ¥ 9 ﬁ'g Téf (4) None of the above
11. f9reor um ufkar 2 11. Teaching is a process of
(1) e Zrr ofpmsal & s & (1) Transmitting knowledge by the
YAROT % teacher to the learners
(2) oTie @ FERE w9 & (2) Directing learning
(3) TR 29 F (3) Giving instruction
(4) o187 ST @ AEHETT B @l (4) [Facilitating of teaching learning

Cat.-1/21



12. 9=3 & g e ameg d§ grey
B ®

(1) RerE @ s §
() g §

(3) @Wﬁ

(4) TN SRYTERE H

13. WANE F& B qAH P QAT B
ST fafy ¥

(1) T3 7 <o fafey

@ AT oy
(3) = faiy

(4) T Ry

14. 9Raay ¥ gad Qe e o s
EGI |

(1) W F R B

(2) SmeAfoTes U& IR &w o

(3) e Faremt @0 e T
(@) <2 A AT w
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{7)

12. Social development of a child actually

14.

begins

(1) 1in early school stage
(2) in infancy

(3) in early childhood

(4) in later childhood

A suitable method of teaching

primary class children is
(1) Trial and error method
(2) Imitation method

(3) Lecture method

(4) Play-way method

In India, primary education system is

laying emphasis on

(1) Developing understanding

(2) Strengthening spiritual aspects
(3) Developing critical thinking

(4) Encouraging rote learning



A (8)

15. ey o aifyes wendt & g %, I / 15. Teaching becomes much more
effective provided
(1) oE A @ HE HE F Qg g . (1) Students are given autonomy and
FrEEr fear s control to work on their own
(2) BE Sy P g FER (2) Students learning is directed and
GRIEGRE controlled by the teacher
(3) WiEep qeAl P A FE F ey (3) Teacher plays a central role in
‘ﬂ;ﬁﬁﬁf GEID] explaining the facts
(4) farere siftrm B FERE Y (4) Teacher directs learning
16. i we ufafy 2 16. Learning is a process of
(1) T4 & A% HE@ B (1) Memorizing facts
(2) wgagEE # RE W R & oaw (2) Memorizing the text material
B P
(8) Irgwa B o1 e B (3) Meaning making  through
experience
(4) Them @ aard @ (4) Preparing for examination
17. SiSEs aas @ gheater i & 17. 1.Q. of a talented child is
(1) 130 (1) 130
(2) 140 (2) 140
(3) 125 (3) 125
(4) 120 (4) 120

Cat.—1/21



(9) A

18. Rarft & o el #xa & 18. A student's development depends on
(1) dmPEE T | (1) Heredity
(2) aqIaE W (2) Environment
3) a‘angzm wd AE W (3) Heredity and Environment
(4) I | ’a aﬁs‘ st wEl (4) None of the ab(;ve
19. % 399 e g8 ¥ 19. A good teacher is one who
(1) 8= § gifq sqgere qRadT ST (1) Causes desired behavioral change
2 in the learner
2) Ngsr & F o IMT Far B (2) Transmits knowledge verbally
(8) ol @l o T B | (3) Narrates information
(4) m & GORT FXT & 4) 'i‘ransmits curriculum
20. W ®X W ﬂ?ﬂﬁ REIlCIEY 20. Instruction at the primary stage
' | needs to be
(1) e Pl (1) Teacher centered
2) QTW?E %i?ﬁ | (2)- Textbook centered
3) B %% | | (3) Student centered
4 e RICREISED v (4) Teacher and Textbook centered

Cat.-1/21 P.T. O.
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21. S & U a7 HAE9uE © ? | 21. What is essential for learning ?
(1) wE&rgsd (1) Self experience
(2) @i (2) Self thinking
(3) w@ipar (3) Self activity
(4) I‘NEH\:T a4 (4) All of the above
22. 6 T 7 Y & qAR ac\'{:fff % ferEmd @ 22, A child of 6 or 7 years old is not able

@R B & g T8 BT to accept other's view point

(1) Fif% T8 JEd BT 2 7 (1) Because he is too young

(2) FiifF g2 e BT B & (2) Because he is ego centric

(3) % T8 ghemw T2 @ & (3) Because he 1s not intelligent

(4) FifF a8 weaii 2T (4) Because he is imaginative

23. 6-11 79 Y T F Frw B g @ 23, Children of 6-11 years age group need

fera emaeTs B the following for learning

(1) 7o rneT /ot @l SueeeR (1) Availability of concrete activities
or experiences

(2) 18R BT M & R (2) Transfer of knowledge by the
teacher

(3) Ted & R0 19l & e (3) Provision of opportunities for
memorization

(4) e T TS T U HE B SEE (4) Motivation to attain high rank in

the class

Cat.~1/21



(11) A

24. 4 ¥ § Frudl e g aredeRe A 24. Which among the following plays the
EIGENC I Ch G CCt B Ml R most important role for emotional
qﬂr_\"@c’f g7 development of a child in early

childhood ?
(1) 3R i (1) Teachers
(2) g-EifeE @l (2) Peer-groups
(3) gsitgat & (3) Neighbours
(4) wre-faan @ (4) Parents

25, [rem gfaEme ® 95. Education psychology is
(1) ﬁg])@ CRIE (1) pure sclence
(2) FeRS &= (2) an applied science
(3) HFFHEH (3) a normative science
(4) Gq'ﬁ?lﬂ 749 Ebzl"éL & (4) None of the above

26. eI A9 H WA g TAH & 26. Ink blot test of personality is
(1) ITHSS e (1) a subjective test
(2) a'{@f"f@ q‘ﬁ&m (2) an objective test
(3) TEYY ThHET (3) a projective test
(4) qu?ﬁ 59 E|73l§ B "~ (4) None of the above

Cat.—-1/21 P.T.O



28.

29.

6-1199 oy & & [y eyfem.
(1) 39 FAT @0 o afea uftkmn 2
(2) Ffepgar @ T 97 gk B

(3) H-k U A gEh g i ¥
(4) TSIYETR H AT HT i ufpar B

(1) &9 F W q & 2
(2) UEETRE F TG q B B

(3) 9% ERT S B WY B

(4) THAT e Bl B

S goEa w9 & 2 g, gl

(1) =3 # drEm & o awy B o
(2) oo, o 9% e & 39 @
(3) FE=M TR YW FHY

(4) === SugE adl wY

Cat.—1/21

(12)

27.

28.

29.

For the 6-11 years age group learning
is
(1) an active process of knowledge

construction

(2)

a process of passive memorization

(3) a process of hearing attentively in

the classroom

(1)

a process of studying a textbook

Learning in children occurs through
(1) Memorizing the knowledge
(2) Reading the textbook

(3) Transmission of knowledge by the

teacher

(4) Doing activity

Learning takes place effectively if a
child

(1) is made ready to learn
(2) repeats what he learns

(3) feels satisfied

(4) does all the above



30. ghe @ IR H O wE TET O ?
(1) ofgfs amifte &kl &
(2) oifghs AAE® el @
(3) sihs o A 3

(4) AfgRe Sgud<r aa aen giear
[

(13)

30.

What is‘not true about growth ?
(1) L:Grov’vth is physical

(2) | érowth is quantitative

(3) Growth is measurable

(4) Growth is a life long process

Cat.—-1/21
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TRl - II/PART - I
A1 (78<0)/ LANGUAGE-I (HINDI)

-

31, w4 — U I F; oY ¥
(1) & - W & e
(2) T A A -
(3) 79 - oA

(4) F1E @

Y
=

S w ey 2
(V) M+ Y
(2) TH + 3%
(3) T+ 7%

(4) T+ SFH

33.

34, WURC UG W AOif@EE dr) g@f

T fRE gER @ G @S9
?

ap

(1) AFAT=E

(2) SMfares

(3) YIS

(1) TgEarE
Cat.~1/21

35. foeifafa & & e1gw 9= s8Iy
(1) &g (2) =@
(3) = (4) AR

[@er « FreraT qEre @ wswe B9 19 gedt
(997 Ho 36-45) F Fuv GG T FEey

greolidl 98 2, @ FER & wer § oae
F ORI GYA B AT H AN FEL 2,
g g omd AR awew o B ... amE
WA AN gaEenell # ave g8 e
S N (i T A o B Bl BT B
qedHrAl @ oIS o Blar B, A A faew §
IR oA TET a9 B WA BT B
- B % e ¥ ae omd alw Y,
A I oMl w2 i Tew @7 B afe

......

AT IEDH TAY F oaeed &€ F
YT Fge A B RIS LS e
BT JEE! WAl o ¥ L =y @8 &1
o B B afz glestid 38 o ¥, a

S OEMT AR 3% an § REn @ @



AR @ T w We oEm w8 I
s FH-FAT F T J3 @ Bl gE B
qMeq ¥ 98 SNaeHdd oo, & §ded S
ST R |

AT B JE T & 8, S AT T H

gt & wF A HOIRE F&E EE
o e @R & A @ e W
% - Praw ReR o= A @ e 8
..... A g8 W TG B a1 8, 99 6
ot gie F ww § ORel &R aE # a9
B - VA 9% TR 8, Wl 9 o ofe H
wHC o W gie 4 .. Rrad =R o
omTve R, TSl TA T el & |

36. T B FTUROT SN B

(1) TR R e
(2) T SR o=
(3) WA, ovy IR ZeRHS
(4) SugF adl
37. fecidr & FE-wad # AR omAH B9
S & 7
(1) TG /A S A

(2) 9§ g8 ‘9 B @ew  3E@
NECTCHE TG

(3) V9 g% TET B AT &

(4) 9 T& TERIE & S O

Cat.~-1/21

(15)

38.

39.

40.

41.

(1) FETE ) ERd 7
(2) & I ARG A
(3) T B TG AW HA

(@) areRe qE W oerRa §e

TG T # A e §
(1) SFE @

(2) UsTEr eafed

(3) e gfs A Al

(4) HET R

‘eER’ & fae R
(1) TR 2 74

(3) (4) 9w

gt o aeaamell ¥ f6E TER

AT B °

(1) T8 TEIRA T AR A 8
(2) g8 Tedl I I 3T §
(3) 98 wEE e WS T @

(4) T8 e B B



A (16)

42. ¥ ‘w § F9 wgRg e & ? 45. TN & HERN W T B WY gRY
(1) 99 ARIMEEF Sa & et (1) I
B &
@) 9
(2) 59 M N ARG I A B
(3) T

3) 9 U B R ot S ¥
AR W WA T JEd gl 2
frg % wReRe & o @ )

(4) Sugert ¥ @ FE TE 46. ‘gAY’ o= ¥ wHE ¥
(1
43. ‘Harsw’ 9= FH A B =
(2) &5
(1) = =T
@ & o (8) Tge
@) T T (4) FHHARF
(4) Sy A { B T 47, P A doey et @
1 g (2 9
44. ‘IEEL F; YT B
3 d (4 3
(1) =% arar o T = are ®) 4
(2) T A AR T8 T am | 48. R F TH I A e ¥
() S el (3) @k (4) i

Cat.—1/21



49. Frfefed & § dom 9= §

50.

51.

(1) P (2) HIE
(3) & 1) Fro
‘Sffpe oot B

) %m%vmﬁga:fa
(2 St fE &
(3) S B T HA &

(4) IugEd |
oo’ Ha 91 B
(1) SfRErEs
(2) WEARE -

(3) gD

(4) Sfcare®

52. HYH o W H ARwl

(1) F+ T+ §
(2 %+ + q
B F+A+8

4 F+I+9

. Cat.-1/21
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53.

54,

55.

56.

(1)‘f%f+%w
@) ﬁ+@m
@ f+ w3
@ R+
ﬁﬂﬁvﬁs‘lﬁﬁ%ﬂ@&lﬁﬁrﬁq

(1) ormt (2 BT

(8) A+ (4) fee

G-I H T B H A

(1) 2N AT

(2) fowlia @ ol F aog-ag G
(8) 9T @ 91|

(4) IEE T el @ ay
Pt & -l wde B 7
(1) &

(2) ST

(3) &I (4) AT

P.T.O.
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57. T § A #F-81 FMea’ & qaigar 59. 9N @l 9T F P &

JF 7B E 7

(1) 99 (2) Fe
(1) o9 (2) AT

(3) STURTY (4) B®
(3) ST (4) 7afa

60. Freifiad & 4 aowa 9= ®
58, = H @ dears da 2

(1) arg (2) B
(1) 9= (2) oTqeT '
(3) fiﬂ (4 ¥Y

(3) SIR9T (4) 99

Cat.-1/21



61.

62.

63.

(19)

9 - II/PART-1I1
Ae-11 (STSH)/LANGUAGE-TI (ENGLISH)

Choose the correct preposition for
the blank :

John, do you remember Mary ? She is

an old friend ..... .... school times.
(1) from

(2) to

(3) of

(4) in

Choose the right answer :

'T visited the parliament' means
(1) T always live there

(2) 1 came there for a short time
(3) I was born there

(4) None of these

Complete the sentence by choosing

the correct option :

Potato chips are ................ .
(1) crispy

(2) c¢runchy

(3) salty

(4) All of the above

Cat.-1/21

64.

65.

66.

Choose one word for the following
group of words :
'a sweet dish served after the main

meal’

(1) Desert
(2) Dessert
(3) Deseert

(4) Deserte

Choose the correct form of verb given

in bracket for the blank :

They

(swim).

in the river yesterday

(1) swimming

(2) swam

(3) swum

(4) swims

Choose the correct meaning of the

phrase tdled away'

wasted

(1)
(2) admired
rested

(3

None of the above

(4)



67. Choose the corrvect pronoun for the
blank -
She has an applein .......... hand.
(1) his (2) hers
(3) her (4) him
68. Choose correct article for the blank :
This wine is ...... expensive.
(1) an
(2) the
(3) a
(4) Zero article
69. Choose the correct word for the blank :
My Mother is at home. Where is
.
(1) yours
(2) yours'
(3) your
(4) None of the ahove
70.  Choose the correet word for the blank :

There 1s hardly time left for the

train to depart.
(1) much
more

(3)
(4)

any

most

Cat.~1/21
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Directions : Read the passage given below
Jollow
(Q. Nos. 71 to 80) by selecting the most

and answer the questions that

appropriate oplion :
The Ghost in the Forest

Many people who live near the Theme
Park are afraid to go into the forest area.
There is a legend, that a woman who once
lived in the forest as an outlaw hundreds &
hundreds of years ago, still walks there as a

ghost at night.

The legend says, she was a great
warrior from a rich family, but the wicked
king, who ruled the country, killed her
family and burned her castle, that is quite

close to the Theme Park.

Her name was Maureen. Maureen
escaped being killed, by running into the
forest. Because of this, the king made an
announcement to reward the person who
reported anything about Méureen by giving

a handsome amount of 500 gold coins.

Many of the poor people, who knew
Maureen liked her very much and they told
her what the king was going to do. Maureen

decided to fight the king. She did this by



helping the poor, robbing the rich and

giving their money to the poor. Every time

someone rich come through the forest, she

would rob him. Maureen was a heroine for

the poor, but in the end, one of the poor

betrayed her.

She was caught by the king's soldiers

and hung in the forest by the king from one

of the old oak trees.

The legend says, that her ghost still

walks there by night. So Beware! ! !

71.

72.

'One of the poor betrayed Maureen.'

The underlined word means

(1) Be supportive to

(2) Be disloyal to

(3) Be or give sign of

(4) None of the above

What reward would the king give for
anyone who found Maureen ?

(1) He would give 500 silver coins

(2) He would give 50 gold coins

(3) He would give 500 gold doins

(4) He would give 50 silver coins

Cat.-1/21
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73.

74.

75.

76.

Who betrayed Maureen ?

(1) One of the rich betrayed Maureen

(2)E One of the poor betrayed
Maureéen

(3) One of the king's soldiers

betrayed Maureen

S

One of her family members

Find the word from the passage which

is the antonym of 'Punish'
(1) Price

(2) Reward

(3) Penalty

(4) Blame

Who made an announcement to

reward the person ?

(1) Ghost

(2) King

(3) Queen

(4) Woman

What was the king like ?
(1) He was good

(2) He was nice

(3) He was wicked

(4) He was generous



77.

78.

79.

Whe

burned her castle ?

killed Maurcen's family &

(1) The king killed her family

(2) The queen killed her family

(3) The witch killed her family

(4) No one

Why are some people afraid of the
forest area in the Theme Park ?

(1)

Because there is darkness

(2)

Because the ghost of a man lives

there

(3) Because the ghost of a woman

walks at night

(4) Because there is a lion

Where did Maureen go after her
family was killed and her castle was
burnt ?

She went .......... .

(1) to the Theme Park for the day
(2) to the forest

(3) to the poor people

(4) None of the above

Cat.—1/21
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80,

81.

82.

How did Maureen help the poor ?

(1) By fighting the king

(2) By robbing the king

{3) By robbing the rich who came

into the forest

(4) By killing the rich

Choose the correct meaning of 'lLook

before you leap'

(1)

Think carefully before taking an

action

(2)

See before you jump

(3) See carefully and then jump

(4) Act carefully
Choose the correct opposite word for
the underlined word :

The teacher isn't kind. He's ........

nice

(1)
(2) ugly
(3) funmy

(4) harsh



83.

84,

85.

Which is the correct order of the

words ?

art / study /do/ ?/you
(1) You study art do ?
(2) You do art study ?
(3) Do you study art ?
(4) None of the above

Choose the plural form of the words

given in the brackets :

(ox) and (goose) are

animals.

(1) Oxess, geese
(2) Oxen, geese
(3) Oxen, goose
(4) Oxes, goose

Which words can fill the blanks

correctly ?

.................

when you

arrived.

(1) has, start
(2) had, started
(3) had, starts

{(4) None

Cat.-1/21
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86. Choose the correct word for the blank :

87.

88.

" In meetings she often says what she

thinks
She is quite ................ .

(1) outgoing
(2) outspoken

(3) shy

(4) :decisive

Choose the odd one out

(1) Left

(2) Milkshake
(3) Right
(4) Forward

Which

punctuated ?

sentence is correctly

Ms. Jones went to dinner with mr

(1)

and mrs brown.

(2

Ms Jones went to dinner with Mr

and Mrs. Brown.

(3)

ms. jones went to dinner with Mr.

and Mrs. brown.

Ms. Jones went to dinner with

Mr. and Mrs. Brown.

4)



A ‘ (24)

90. Choose the most appropriate word for
the blank :

89%. Choose one word for the underlined

words :

It was foggy and I watched my friend She entered the room ......... since the

move out of sight into the distance as baby was sleeping.

he walked away. (1) qﬁiet

(1) toss (2) quitely
2 : .

(2) throw (8) quite
(3) pour

(4) quietly
(4) disappear

Cat.-1/21



(25) . A
A - IV/PART -1V

TR/ MATHEMATICS
91. T F ¢ 91. Simplify :
8.5-(4.07-12-09) # 1.6 8.5-(4.07-12-09) of 1.6
(1) 2.468 (1) 2.468
(2) 24.68 : (2) 24.68
(3) 68.24 _ (3 68.24
(4) 6.824 : (4) 6.824
92, fr=ifaiaa Gﬁiﬁa &Y ieEeR T A 92. Find the median of the following data :
24, 36, 46, 17, 18, 25, 35 | 24, 36, 46, 17, 18, 25, 35
(1) 36 (1) 36 '
2 18 A (2 18
(3) 25 . 3) 25
(4) 35 : ' 4) 35
93. 9 3@ N : | 93. Find the value:
1-tan’ 45 | 1-tan? 45
1+tan? 45 1+tan? 45
(1) @ 1 1) o @ 1
(3) -1 @ 0 3) -1 - 4) 0

6 Fd o WU SIS / SPACE FOR ROUGH WORK

Cat.~-1/21 P.T.O.



94,

95.

96.

315, 441, 357 & 5.9.9. &
(1) 17
(2) 19
(3) 21

(4) 16

A 7 By & a1 9 o ey

(1) 65°
(2) 60°

(3) 115°

(4) 145°

TH [T 75 et /aver @ v A
WA @R A 20 Pee § R od
T N ?

(1) 25 et
(2) 20 Fpeir
(3) 15 By
(4) 7.5 fopsly

(26)

94,

95.

96.

HCF of 315, 441, 357 is

(1) 17

(2) 19

(3) 21

(4) 16

Find the value of /x in the given
triangle
(1) 65°

(2) 60°

(3) 115°

(4) 145°

A train is moving at a uniform speed
of 75 Km/hour. How far will it travel

in 20 minutes ?
(1) 25 Km
(2) 20 Km
(3) 15 Km
(4) 7.5 Km

% %4 % AT 58 / SPACE FOR ROUGH WORK

Cat.-1/21



97. @ 273045 i 0 # WHIFHN 8

(27)

97. The place value of '0" in 273045 is

(1) 1000 (1) 1000
2) 0 (2) 0
(3) 100 (3) 100
4 10 (4) 10
98, guFaT O —37, -83, —29, oo 98. TFind the sum of the AP : -37, -33,
qed 12 G deb ATERA S &K 29, ...... of first 12 terms
(1) —180 (1) —180
(2) 180 (2) 180
(3) 810 (3) 810
(4) —108 (4-).—1()8
99. W H 99. Simplify : |
9x4 9x4
(1) 108 (1) 108
(2) 72 (2) 72
(3) 18 3) 18
(4) 144 (4) 144
% P14 $ AT S8 / SPACE FOR ROUGH WORK
Cat.—1/21 P.T.O



A

100. I8 o€ BIY §Em #9 B¢ Pred g

101.

102.

81 F WM & W HAHT TH ot g
o & Y

(1) 27
(2) 81
3) 9
(4) 3

LXXXVI %1 fevg-aal of &

(1) 95

(2) 56

(3) 86

(4) 126

g B AR w5 Al W@ owe o

T 7750 %, d 9 & ¥ 3§ R W
4 I F G AT A

(1) 2124

(2) ¥ 155

(3) 3875
(4) 62

(28)

100. Find the smallest number by which

101.

102.

the number 81 must be divided to
obtain a perfect cube

(1) 27

(2) 81

(3) 9

(4) 3

Hindu-Arabic numeral of LXXXVI is
(1) 95
(2)
(3)
(4)

56
86

126

If the simple interest for 5 years is
% 77.50, find the simple intefest for
4 years for the same principal and
rate

(1) 2124

(2) %155

(3) T387.5

(4) T62

% %1 % T SFIE / SPACE FOR ROUGH WORK

Cat.-1/21



(29) A

103. 39 T& gAd AF B AFT A CTy 103. Find the volume of the right' circular
e Bear 3.5 A OR SAE 12 & cone with radius 3.5 em & height
2 12 em
(1) 308 Q3 (1) 308 cm3
(2) 154 TH° _ (2) 154cmd
(3) 7789° (3) 77 cm®
(4) 23189 (4) 231 cm3
104. TEINIRG B fofay Bras & @89 16 | . 104. Write ‘a- Pythagorean triplet whose
qer 63 % two members are 16 & 63
1 79 (1) 79
(2) 32 (2) 32
(3) 65 (3) 65 -
(4) 126 (4) 126
105. Ush gHlHiX TR & AG 9.8 Hiex 2 105. Diameier of a circular garden is
TR ST ST B , 9.8 m. Find its area
(1) 75.46 Hr? . (1) 75.46 m?
(2) 80.467%7 (2) 80.46 m?
(3) 47.49 112 (3) 47.49 m?
(4) 75.86H* (4) 75.86 m?

% &Y 3 XU e / SPACE FOR ROUGH WORK

Cat.-1/21 ' P.T.O.



A

106.

107.

108.

THHTT 242 ~ Bx + 3 = 0 & gA oW
&

(2) 1,

Do | o

3
3) 1, ——
3) 1, 5

4 -1, 1

UF 99 30 Bw R AART H g9 @
M 9 & Rl Ry W sleRa Bor @
.................. Bl 7
(1) T
(2) i A
(3) "°H
(4) =R T

4096 1 T B
(1) 24
(2) 14
(3) 16
(4) 12

(30)

106.

107.

108.

Find the roots of the equation

2x2 - bHx +3=0

3
1) -1, =
a -,
2 1, 2
2
3
3) 1, -=
@ 1, -2
(4) -1, 1

The angle subtended by an arc at the

centre is ...........

the angle subtended
by it at any point on the remaining
part of the circle.

(1) double

(2) three times

(3) same

(4 four times

Cube root of 4096 is
(1) 24
(2) 14
(3) 16
{4y 12

I H & T S8 / SPACE FOR ROUGH WORK

Cat.-1/21



109.

110.

111.

ISR
25 x 8358 x 4
(1) 837900
(2) 835100
(3) 835800
@) T § P T
21 9 g 9w NS OIRE AR
EIICTY A
(1) 1386 §HI°
(2) 693 &>
(3) 66 TW”
(4) 462 T2

52 TEY @ o= YHRX A B T TH TG
¥ Q4 uF T e S 2 g @

T F SEAT BN B TR FE B
3 1
= 2y —

(I 3 (2) %
3 2

(3) % (4) B

(31)

109,

110.

111.

Simplify :
25 x 8358 x 4
(1) 837900
(2) 835100
(3) 835800
(4) None of these

Find the surface area of a sphere of

diameter 21 em
(1) 1386 cm?
(2) 693 cm?

(3) 66 cm?

(4) 462 cm?

One card i1s drawn from a well
shuffled deck of 52 cards. Find the
probability of getting a king of red

.colour
3 1
l 9y
(1) T (2) Y
3 S 2
@ 26 ) 13

IF H9 P WU S8 / SPACE FOR ROUGH WORK

Cat.-1/21

P.T.O.



A (32)

112. A a=20b=3,c=48, qd* +b°+ 112. Ifa =2, b = 3, ¢ = 4 then find the
¢’ — 3 abc F W 5 HY value of a® + b + ¢* — 3 abe
(1) 64 (1) 64
(2) 27 . (2) 27
(3) 99 | 3) 99
(4) 72 (4) 72
113. TF TR & FGET 25000 § T 113. The population of a city decreased
24500 @ T | g &1 g B from 25000 to 24500. The percentage
of decrease is
(1) 5% (1) 5%
(2) 2% : (2) 2%
(3) 4% (3) 4%
(4) 3% (4 3%
114. % 150 ¥ g9 @R w0 of fem o0 & 114. Milk was bought for ¥ 150. For whht
&= S 5 20% @ @y & ? price should it be sold to gain 20%
profit ?
(1) T 170 (1) T 170
(2) T 180 (2) 180
(3) T 130 (3) ¥130
(4) T 120 (4) T120

6 FE B [T S8 / SPACE FOR ROUGH WORK

Cat.~1/21



(33) A

115. TgUE 32t~ 42° - 3z — 1 B ox— 19 AT 115. Divide the polynomial 3x% — 4x3 — 3x — 1

[ W AR T e B by x~ 1 the remainder is

(1) -5 (1) -5

(2) 5 (2 5

(3) 2 3 2.

4) -2 @ -2
116. & & 116. Solve :

501 x 502 501 x 502

(1) 152502 (1) 152502

(2) 125502 (2) 125502

(3) 251502 (3) 251502

(4) 551202 (4) 551202
117. €& 9801 & Ty H 38 & b 117. What could be the possible one's

T GHET & 7 digits of the square root of the num-

ber 9801 ?

1 1,9 (1) 1,9

@ 3,9 2 3,9

3 3,3 3) 3,3

4 0,1 4 0,1

% &4 % U 78 / SPACE FOR ROUGH WORK
P.T. O.

Cat.-1/21



A (34)

118. fFgat (-6, 7); (-1, 3) & 9 @ gl 118. Find the distance between the pairs
T B of points : (-5, 7); (~1, 3)
(1) 242 (1) 242
2) -242 (2) —242
(3) 442 » (3) 442
4 —4/2 4) -42

119, TE HO7 5T HAY A SN YD Pov 119. Find the angle which is equal to its

& T & 4 supplementary angle
(1) 45° (1) 45°
(2) 180° (2) 180°
(3) 90° (3) 90°
(4) 360° (4) 360°

% %4 P T SIS / SPACE FOR ROUGH WORK

Cat.-1/21



(35) v ’ ' A

120. 2 = awT 1500 URATT # AGRBE EU 120. 1500 families with 2 children were
F =99 B el FefaRad Gﬁﬁ selected randomly and following data
fqu U were recorded :

qiaR # agm 2 1 0 Number of girls in 2 1 0
H wEn a family
gRart @ dEn 475 i 814 | 211 Number of families | 475 | 814 | 211
1]17‘51%3% w g ?ﬁ T 3IH GRAR @ Compute the probability of a family
iRieaT ST ST R T dSd @l - choosen at random having 1 girl
407 407
1) — 1
) 750 M 750
207 207
2y — 92y 220
@ 260 @ 250
40 40
3) — 3) —
@ 500 & 500
307 ' 307
4) — 4
) 350 “) 350

I% HE B [T 7€ / SPACE FOR ROUGH WORK

Cat.-1/21 P.T. O.



(36)

HFT - V/PART - V
TGIgRT ST/ ENVIRONMENTAL STUDIES

121. U, 9R@R S8R Isege

122.

123.

...............

Frsor & fore @2 of & & & 9 gl
P T o |

(1) T
(2) F=I
(3) IooAT

(4) HE
g % ST § Y A ¥

(1) wHET
) wafsgq
(3) |

(4)

gfe Reel g @ pH 2 B, & g8 B

(1) g oy
(2) gEd &
(8) VT 37T

(4) Y&t A

Cat.~1/21

121.

122.

123.

The Palas, Pratiharas and

Rashtrakutas fought for control of

the symbol of power after

Harsha's reign.
(1) Punjab
(2) Kannauyj
(3) Ujjain

(1) Kanchi

An amalgam of metal has which other

element

(1) Carbon

(2) Sodium

(3) Gold

(1) Mercury

If pH of any solution is 2, means it
18
(1) Weak acid
Weak base

(3)

Strong acid

(4)

Strong base



124.

125.

126.

frsr & @ uEeae 38 - B 7

(1) FH=
(2) T
(3) |MAE
(CARERECE

WG | Fel dga el e § 7

(1) Iera
(2) ot
(3) Flea
(4)

T IEH s 8 B

(1) 39 TTH @9, B FONHD
CIEH B

(2) HIT FHONHE OIS, Ps  HATHS

SICHEC 1

(3) RIHE TAq OERHS AN EEY
=

(4) ®IS A & Bra

Cat.-1/21

(37)

124.

125.

126.

A

'Whiclh,of the following is the oldest

Vedas ?

i(l)i; Rigveda

(2) Yajurveda
(3) Samaveda

(4) Atharvaveda -

Where in India horned Rhinoceros are

found ?

(1) Gujarat
(2 Assam
(3) Karnataka |

(4) Kerala
A neutral body has

(1) only positive charge, no negative

charge

(2)

only negative charge, no positive

charge

equal amount of both positive and

(3)

negative charge

(4)

no charge at all

P.T:O.



A (38)

127, M & aftror &1 qfvedl gre wEard & 127. The western coastal strip, south of
Goa is referred as |
(1) Hrere (1) Malabar
(2) i (2) Konkan
3) &g (3) Kannad
(4) I R (4) Northern Circar
128. SR | 128. DDTis:
(1) T wEEEes () An antibiotic
(2) IHIHTHTAT Hgeh (2) Non-degradéble pollutant
(3) AT JAH (3) Degradable fertilizer
(4) SIEESINEIERSN E'i?g%ﬁ'l'qq (4) Dichlorodifluro Titanium
129. #1397 i woer B # 7 129. Who founded the Lodhi Dynasty ?
(1) gead al (1) Bahlol Lodhi
2) zarfen @l (2) Ibrahim Lodhi
(3) foepat e . (3) Sikander Lodhi
(4) Wﬁaﬁ T 9 B el (4) None of the above

Cat.—~1/21



(39) A

130. B H ¥ FE-E oA a9 age & 130. Which of the following bacteria is

b % WI H HH ST 2 7 used as an indicator of water pollution ?
(1) CEEAHET (1) Staphylococcus
(2) BEHHH (2) Streptococcus
3) EXUEIET! (3) Diplococeus
(4) PreeH (4) Coliform

131, && VIII & & Qanedt & sy & 131. A student of class VIII performs an
3qgal @l PRER FH B U TE W experiment to separate, constituents
FLT 2 TER F ad% Foarel & UES of a mixture, the chart of the process
HECICE: &2 F i =i is shown here. What are A and B

respectively ?

Rysror £l Fredes Magnet
| B | T Mixture Water is _Filter Salt
added 1
( \33{)~ _ (Ef) solution
)

(1) @R # Bt a4 | | (1) Tron nail and sandv

(2) e & F g A (2) Iron nail and sugar

(3) THST & Thg UH L (3) Wooden pieces and sand

(4) @999 S g == (4) Stainless steel and sugar

Cat.-1/21 . ' P.T.O.



132.

133.

134.

& H T WH 3
(1) e
(@) A

(3) sl

(4) g [

FMH ARY srERed §

(1) T H

(2) "7 mRer |

(3) e A

(4) dierTg d

Hfert adi®oTa Al + b NaOH + ¢ H,0

— d NaAlO, +3 H, (9 T # g b ¢ @Y
d A FHHATER B

(1 3,21
(2) 2,2,2, 2
3) 3,3,3,3

4

Cat.-1/21

(40)

132,

133.

134.

The birth place of Buddha is
(1) Ayodhya
(2) Sarnath
(3) Lumbini

(4) Bodh Gaya

Konark Temple is located in
(1) Rajasthan

(2) Madhya Pradesh

(3) Orissa

(4) Tamil Nadu

In the balanced equation :

a Al+ b NaOH + ¢ H,O — d NaAlO, +
3 H, (g) T the value of ¢ b ¢ d are

respectively
(1) 3,2,1,3
2 2,2,2 2
3 3,33,3

(4) 2, 3,2 2



135.

136.

frr § @ P Aee R @
IUANT & TF ISTE0T 787 & 7

(1) RER & s & g § W
GEIEGE]

@ ¢ fERdl a) feE o W
T

@) TF W W H W W HeAst
oI geul &R HAH dd Wik Bl

(4) F==t E0 Y9 WU B SIS
qT

TRt e & ged § e A
HF-a1 Tel 7 ?

(1) R e Sepeelig St @

@ aft qeEte aReds & AR el
ST et ® ‘

@) Tt ofuRRme # R
SRl T g 9 S B §

(4) TGRS T

Cat.-1/21

(41)

135.

136.

A

Which of the following is not an

instance of an exercise of a

fundamental right ?

(1) Seeking employment of Bihari

labourers in Punjab

(2) Establishing mission school by

Christian missionaries

(8) Getting the same salary by men
and women working on same

position

(4) Inheriting parental property by
the children

Which of the following statement is

correct for chemical reaction ?

Chemical reactions are reversible

(1).
(2) Energy is absorbed during all
chemical reactions

involves

Chemical reaction

3)
breaking and making of chemical
bonds

(4) All of the above



138.

139.

137 dfvedt BRar # uiEe =9 ez

(1) —> T —> q5Te
(2) HIEN — HE] —> Aausf
(3) HHUN —> ARTF —> TH

qfEusii — FIE —> A5

U F UHRRTO F OIS RpEe BEET ar ?

(L w”\‘r%’ﬁ? BlSEL

@) TEeE

(3) Tg=m

(1) fEee

2011 & SEMN F AN 9RG H

(1) 382

(2) 324
(3) 421
(1) 518

Cai-1/21

(42)

137.

138.

139.

in reflex action, reflex arch is formed

by

(1) Brain — Muscle -» Spinal cord
(2) Receptor — Spinal cord -» Muscle
(3) Muscle —» Brain — Spinal cord
(4) Muscle — Receptor —» Spinal cord
Who 1s considered the Mastermind
behind German unification ?

(1) Frederic William

(2) Garibaldi

Bismark

(3)

(1) Hitler

According to 2011 census the density

of population in India is
(1) 382
(2)

(3)

(4)



140.

141.

142.

I T FEE b BT H AR 4 AR
THel § HE W, A gl B HW G
Rl

(1 =
(2) IX
(3) ame

(4) ©:

ggA SqaT RUIE, 2010 ¥ WRA &
W ?

(1) 116
(2) 119
(3) 123

(4) 132

gl SmETT & HROT GUER ° W@

(1) o™ #H
(2) sTE |
(8) =M Smw o

(4) STy Y=Y ¥

Cat.-1/21

(43)

140.

141.

142,

If a bar magnet cut lengthwise into
four parts, the total number of poles

will be

(1) Two
(2) Four
(3) Eight

(4) Six

In Human Development Report, 2010
India’s position is

(1) 116

(2) 119

(3) 123

(4) 132

"Dantewada" which recently came
into news for Maoist attack, is located

in

(1) Assam

(2) Chhattisgarh
(3) West Bengal

(4) Andhra .Pradesh



A : (44)

143. SHET, "G i?ﬁ g St & 99 FEg 143. Population becomes human capital
fRaT ST B " when there is investment made in the
form of
(1) forer 4 (1) Education
(2) digreror 4 (2) Training
(3) W@y ﬂﬁﬁﬂ?’ﬂ T (3) Medical care
(4) sgF wslt A (4) All of the above
144. ANH R 99 H0-50 999 B R @) 144. Sometimes during cooking the bottom
e HTE FHIET 8l A %, ERED arf B of vessel, becomes black from out side.
This means that
.(1) A I g 797 2 (1) Food is over cooked
(2) A9 I & &1 B (2) Vessel is made up of steel
(3) 39 ‘i"]‘ w0 H e 99 @ (3) Fuel is not burning completely
(4) TgF o9 IR-ICWE 2 (4) The used fuel is non-conventional
145. Upamt (svemem) # e 145. Pancreas has
(1) Faq FieEEr ﬁf?ﬁﬁfﬁ (1) only endocrine cells
(2) Fad ATTE! HEHT (2) only exocrine cells
(3) & YBH P AT s waq (3) two types of cells exocrine and
ieend] endocrine
(4) FTTA TH UK DI HITBET A (4) only one type of cell function both
CRECIC] Ty diREE EM SR A in endocrine as well as exocrine
&4 Fl 2 manner

Cat.-1/21



146.

147.

148.

W%g@ﬁweﬂaﬁ%

(1) THo ago FHXafl

(2) To MU

(3) A =rad

(4) IgF A 9 F3 T

TH AT oS, gE I A g I 8
AfhT T B UIT e § AR o
| SEH PROT &

(1) o2 & Hug § g g Arem

(2) I8 5 H I G
3) T B U F I T

(4) 32 P Fod HeTaw & I B B
% g& T e B 8

frer & @ B Ry zw wmemer |
SeleE 9 99 SRt ® 7

(1) KCIO; & MnO, 3 6% ™ &A
q

(2 mfﬂ%ﬁgqemmm
(3) T GO |

(4) (1) g (3) &t

Cat.-1/21

(45)

146.

147.

148.

@

Chief Election Commissioner of India
18

(1) S.Y. Quraishi

(2) N. Gopalaswami

(3) Navin Chawla

(4) None of the above

A fresh egg sinks in pure water
whereas it floats in saturated salty

water, this is due to

(1) the fluid matter inside the egg

shell
higher density of the §ure water
(3) higher density of the salty water

4

egg shell is made up of calcium

which is lighter than pure water

Which of the following method is used

to produce Oxygen gas in laboratory ?

(1) Heating of KCIO4 with MnO,

(2) Electrolysis of HyO
(3) Photosynthesis

(4) (1) and (3) both

P.T.O.



149,

150.

= 5 9 9 dfaa g $ wew 3 ?

(1) diEd e M

(2) W BIZ 1M

(3) = TrER Rz gge

(4) 2 AT e

TF T R 9 ¥ FW B N Iuwl

TR OB IR 50 WY FEE dF e}
B A B U A A B, o

(1) 39 &0 @ & " FIT qU 50
drex &

(2) %5 F Rearas 100 Hex ®

@) 3H T fremT g ¥

(4) 59% B T H W Fw g 120
frex &

(46)

149. Who amongest following was the

150,

member of Constituent Assembly ?
(1) Pt. Neki Ram Sharma

(2) Sir Chhotu Ram

(3) Shri Ranbir Singh Hooda

(4) Shri Sher Singh

A ball is thrown up with a certain
velocity, it attains 50 m and come

back to the thrower then the
(1) Total distance covered by it is

50 m

(2) Total displacement covered by it
is 100 m
(3)

Total displacement is zero

(4)

Total distance covered by it is

120 m

Cat.~1/21



